

Corn price volatility and producer income protection

García-Hernández, Mario I.¹; Valdivia-Alcalá, Ramón^{1*}; Osorio-Caballero Maria I.²; Hernández-Ortiz, Juan¹; Santiago-Zárate, Miguel I.¹; Barragán-Avilés, Cristian A.¹

- ¹ Universidad Autónoma Chapingo, Chapingo, Texcoco, Edo. de México, México, C.P. 56230.
- ² Universidad Nacional Autónoma de México, Coyoacán, Ciudad de México, México, C.P. 04510.
- * Correspondence: ramval@gmail.com

ABSTRACT

Objective: To estimate the risk indicator of the future price of yellow corn #2 at the Chicago Futures Exchange (USA) regarding the spot price of white corn in the main producing regions in Mexico through the financial volatility indicator.

Methodology: The research used the returns of the monthly time series corresponding to the spot price of white corn from January 1998 to December 2020, considering five producer-consumer regions of Mexico and the future price of yellow corn #2 as listed on the Chicago Stock Exchange. To quantify volatility, the generalized autoregressive conditional heteroskedasticity model of order (1,1) was estimated.

Results: The yellow corn #2 volatility indicator was 0.9870 (future price). In the case of the spot price of white corn in Mexico, the volatility was 0.7977 for the national price, 0.3385 for the central region, 0.3206 for the western region, and 0.0078 for the southeast region.

Implications: The high volatility of yellow corn #2 (close to unity) shows that the international market for this commodity is riskier than the national market or regional markets in Mexico.

Conclusions: The national white corn market proved to be riskier than the west, center, and southeast regional markets, which have a higher volatility indicator.

Keywords: futures market, autoregressive conditional heteroskedasticity, risk coverage, supply, agricultural policy.

INTRODUCTION

In Mexico, the promotion of corn production has been a priority sectoral policy, because it is the fundamental grain in the population diet. The guaranteed price of this crop was maintained until 1999, the year in which the Compañía Nacional de Subsistencias Populares (CONASUPO) was liquidated. This policy was in force for 15 years (1993-2007), to face the total opening to free trade and international competition of this grain with the country's trading partners (Ortiz and Montiel, 2017; Valdes, 2018).

During the 2000-2019 period, corn imports registered a 5.5% average annual growth rate. According to the Agencia de Servicios a la Comercialización y Desarrollo de Mercados Agropecuarios (ASERCA, 2020), between 2011 and 2019, yellow corn and white corn accounted for an average of 91.2% and 8.8% of total imports, respectively. In 2019, the cultivation of this staple grain ranked first in the harvested area, with 34.6% of a total of 19.4 million hectares.

Citation: García-Hernández, M. I., Valdivia-Alcalá, R., Osorio-Caballero, M. I., Hernández-Ortiz, J., Santiago-Zárate, M. I., & Barragán-Avilés, C. A. (2023). Corn price volatility and producer income protection. *Agro Productividad*. https://doi.org/ 10.32854/agrop.v16i3.2392

Academic Editors: Jorge Cadena Iñiguez and Libia Iris Trejo Téllez

Received: October 01, 2022. Accepted: January 18, 2023. Published on-line: May 19, 2023.

Agro Productividad, 16(3). March. 2023. pp: 101-106.

This work is licensed under a Creative Commons Attribution-Non-Commercial 4.0 International license.



Given the commercial opening of applied agriculture in the 1983-2018 period, Zahniser *et al.* (2019) and Motamed *et al.* (2008) point out that the different regions of Mexico are not equally integrated with the United States market. Therefore, white corn prices throughout Mexico can change along, but in different degrees, with the price of yellow corn #2 in the United States. The Apoyos y Servicios a la Comercialización Agropecuaria (ASERCA) decentralized public organization was created in 1991. ASERCA implemented and monitored part of the public policies that benefited producers, strengthening the development of the sector, agricultural profitability, and producers' income. In addition, it solved problems that arose when producers stopped receiving support from CONASUPO (Godínez, 2006; Varangis, Larson, and Anderson, 2002).

In the federal administration of the 2000-2006 period, ASERCA's coverage was extended to support five crops (cotton, beans, wheat, sorghum, and soybeans) in face of the commercial opening. It also helped corn growers to purchase futures contracts for yellow corn #2, which are quoted on the Chicago Futures Exchange, under the argument that white and yellow corn are interchangeable with each other in the offer. Support through futures contracts ended in 2018, because in 2019 ASERCA's budget was reduced by 88.2 %.

The acquisition of coverage contracts in the futures market of the Chicago Stock Exchange is subject to high speculation; therefore, its prices register high volatility, as can be deduced from the works of Engle (1982) and Bollerslev (1986). In addition, the magnitude of the volatility of the yellow corn #2 future price (transmitted to the spot price of white corn in Mexico) is not well known. Therefore, if Mexico is the main importer of yellow corn from the United States, it is important to provide elements for decision-making in the design of white corn agri-food policies in Mexico. The objective of this research was to estimate the magnitude at which the risk of the yellow corn #2 futures price in the Chicago Futures Exchange is passed on to the spot price of white corn in the main producer-consumer regions of Mexico. This magnitude was determined through the financial volatility indicator for the 1998-2020 period, to analyze the effect of coverage on the income of producers as a tool to protect the income of surplus white corn producers.

MATERIALS AND METHODS

In the study, four white corn producing regions in the country were considered: 1) the western region that includes Sinaloa and Jalisco; 2) the central region that groups Mexico City and the State of Mexico; 3) the southeast region made up of Chiapas and Yucatán; and 4) a "national" region that includes Chiapas, Chihuahua, Mexico City, Durango, Jalisco, State of Mexico, Nuevo León, Sinaloa, Tamaulipas, Yucatán, and Zacatecas.

Variables definition

Table 1 shows the definition of the main variables used in the study.

The sampling period of the study covered 22 years, from January 1998 to December 2020, obtaining a sample of 264 observations. The monthly series of price data for yellow corn #2 listed on the Chicago futures market was obtained from the Economic Research Service (ERS-USDA, 2021), while the price of white corn was obtained from the Servicio

Table 1. Definition of study variable
--

Variable	Description	Units
PBOCC	Price of white corn Western Region	USD/ton
PBCEN	Price of white corn Central Region	USD//ton
PBSTE	Price of white corn Southeast Region	USD//ton
PBNAL	National white corn price	USD//ton
PAMBC	Price of yellow corn #2 listed on the futures market of the Chicago Stock Exchange	USD//ton

Note: USD=United States dollar; t=metric ton. Source: table developed by the authors.

Nacional de Información e Integración de Mercados of the Secretaría de Economía (SNIIM, 2021).

Non-stationarity contrast tests

The methodology used to determine if the time series are stationary was the Dickey-Fuller unit root (DF) contrast test (Brooks, 2019). In the case of the financial concept of volatility analysis, the so-called performance or profitability was used. Brooks (2019) indicates that, in financial analysis, it is better to express asset prices as simple price performance or profitability. Given that the prices of certain commodities (*e.g.*, coffee and corn) behave like the prices of financial or similar assets, their residuals also have high variability and heteroskedasticity.

RESULTS AND DISCUSSION

Descriptive statistics

To quantify the volatility of the white and yellow corn prices, these were transformed into yields or simple profit, based on the proposals of Brook (2019) and Pérez (2006). Table 2 shows the descriptive statistics of the four series of the white corn profitability and the series of the yellow corn #2 profitability.

Unit root test

The values of (τ) were established using the augmented Dickey Fuller test (ADF) for unit root, including only the intercept in the regression equation. The values of τ for the profitability of the five-time series were higher than the critical values for the 1, 5, and 10%

Statistics	PMBOCC	PMBCEN	PMBSTE	PMBNAL	PAMBC
Average	0.3034	0.3046	0.3126	0.3052	0.8032
Maximum	45.0861	22.2119	23.3661	22.6043	89.9500
Minimum	-31.6218	-18.1686	-16.5859	-17.2037	-41.1700
Standard deviation	6.4303	4.3940	5.5306	4.3429	12.1155
Symmetry coefficient	1.1004	0.4160	0.6037	0.5113	2.0284
Kurtosis	13.3615	6.6185	5.7773	7.7817	17.5227

Table 2. Descriptive statistics of the profitability of white and yellow corn.

Source: table developed by the authors.

confidence levels; consequently, all the time series were stationary. The abovementioned GARCH (1,1) model was used in the research. For the analysis of the volatility of the series of interest, the following two equations were estimated: the mean regression equation and the variance equation that corresponds to GARCH itself (1,1).

Table 3 shows the estimated results of both equations for each of the white and yellow corn series. This table also includes the price volatility of these corns, which is considered a measure of the market risk that their buyers and sellers must face. They must also try to minimize or transfer the said risk to other market agents, through financial instruments (*e.g.*, coverage or insurance premiums).

Variable	Equation / Parameter	Coefficient	Standard error	Z-value		
	Equation of the mean:					
RPMAMRD	α	-0.04335	0.23595	-0.18371		
	Variance equation:					
	α_0	0.41254	0.11351	3.63451		
	α_1	0.04216	0.01049	4.02090		
	β	0.94485	0.01297	72.85510		
RPMBRDNAL	Ecuación de la media:					
	α	-0.31168	0.29382	-1.06077		
	Variance equation:					
	α_0	5.95383	1.25095	4.75929		
	α_1	0.26910	0.05640	4.77171		
	β	0.52855	0.07143	7.39944		
	Equation of the mean:					
	α	-0.10931	0.41122	-0.26582		
DDWDDDOCI	Variance equation:					
KFMBKDOUI	α_0	29.56558	9.45214	3.12793		
	α_1	0.23223	0.07434	3.12376		
	β	0.08834	0.20718	0.42638		
	Equation of the mean:					
	α	-0.08040	0.25434	-0.31609		
DDMDDDCEN	Variance equation:					
KEWIDKDGEN	α_0	16.00216	2.42771	6.59146		
	α_1	0.41661	0.09442	4.41254		
	β	-0.07809	0.07834	-0.99682		
	Equation of the mean:					
	α	-0.24175	0.42394	-0.57023		
DDMDDDSTE	Variance equation:					
KIMDKD51E	α_0	45.37773	116.81590	0.38846		
	α_1	0.01607	0.03560	0.45159		
	β	-0.00825	2.57997	-0.00320		

Table 3. Estimation of the volatility of corn with the GARCH model (1,1).

Source: table developed by the authors.

The coefficient column shows the estimated values for the parameters of the equation of the mean, which are assumed to be shaped like a random walk with drift. In the case of the estimated parameters for the GARCH (1,1) model, the restrictions ($\alpha_1 > 0$ and $\beta > 0$) are fulfilled. The interpretation corresponding to GARCH (1,1) is $\alpha_1 + \beta = 0.2691 + 0.528551 = 0.798$ —that is, the sum of the coefficient of the ARCH effect and the parameter of the conditional variance with a one-period lag. This implies that the price of white corn for the following month is highly dependent on the price of the previous period, showing a high persistence of volatility (particularly, of the national corn price) and therefore a greater risk.

In the southeast region (RPMBSTE), both the parameter of the ARCH effect (α_1) and the conditional variance (β) were not statistically significant. Likewise, the magnitude of volatility ($\alpha_1 + \beta = 0.0078$) does not affect white corn.

For their part, Ortiz and Montiel (2017) used the multivariate stochastic volatility analysis to show that the corn price in the futures market during the 2007-2012 period was not strongly related to the prices recorded in some states of the country. Therefore, they conclude that, despite the increased use of white corn, the coverage provided by the ASERCA program has failed to properly fulfill its purpose: protecting the income of Mexican farmers who plant this grain.

Similarly, the present study found out that the average price of white corn in Mexico has a high volatility that, given its magnitude (0.798), tends to persist over time. The southeast region (Chiapas and Yucatán) is not affected by the said volatility. Meanwhile, Echánove (2011) highlights that the government implemented support programs since the 1990s, including contract farming, whose purpose was to provide security, both to producers and buyers, in the grain commercialization sector. In 1996 producers (mostly of white corn) began to use the program to acquire stock instruments on the Chicago Stock Exchange, with yellow corn #2 as their underlying. The coverages operated by ASERCA involve a position in the futures market opposed to the position of the participant in the domestic spot market. Consequently, any loss in the spot market is compensated with the coverage in the futures market (Ortiz and Montiel, 2017) and, at no point in time, do the producers —who are protected with the coverage signed with ASERCA- lose their monetary income as a result of the fall in the price implied in the high volatility. When the volatility implied a higher price than the one stipulated in the contract for the coverage acquired through ASERCA, the producers were not only protecting their income, but also obtained additional income from the difference in the prices of the contract and the yellow corn futures price. They only reimbursed ASERCA less than 50% of the amount which the said institution provided them to acquire the so-called base. In their analysis of the results of the volatility estimates, Ortiz and Montiel (2017) do not indicate how this type of risk would affect white corn producers in Mexico. At budget level, the official resources allocated to agriculture by contract are insufficient —as the budget allocated to the agricultural sector usually is (Echánove, 2011).

CONCLUSIONS

The profitability of the price of yellow corn #2 —the underlying commodity of the coverage that ASERCA acquired to support white corn producers in the western region

(Sinaloa and Jalisco)— is highly volatile. The extreme closeness to the unity of this risk indicator implies a persistent volatility in the yellow corn #2 market and that the price of the next period depends almost entirely on the previous period. In the case of Mexico, the profitability of the white corn price in the national region has high volatility (0.798), which implies a high risk for white corn as the only national market. In conclusion, since the central and the western regions face a greater market risk and greater financial risk than the southeast region, their income could have greater variability and therefore greater risk. The need to design coverage mechanisms for corn producers will enable agricultural policy makers to develop programs and sectoral laws that encourage the national production and supply of this basic grain.

REFERENCES

- Aljandali, A. & Tatahi, M. (2018). Economic and Financial modelling with eviews. A guide for students and professionals. Springer International Publishing. Cham, Switzerland: 293 pp.
- Agencia de Servicios a la Comercialización y Desarrollo de Mercados Agropecuarios (ASERCA) (2020). Reporte de mercado de maíz. Centro de Información de Mercados. Consultado el 4 de febrero 2021 en: https://www.cima.aserca.gob.mx/work/models/cima/pdf/cadena/2020/Reporte_mercado_ maiz_200120.pdf
- Bollerslev, T. 1986. Generalized autoregressive conditional heteroskedasticity. Journal of Econometrics, 31(3): 307-327.
- Brooks, C. (2019). Introductory econometrics for finance. 4th ed., Cambridge University Press: 891 pp.
- Echánove, H., F. (2011). Política agrícola en México: el esquema de agricultura por contrato en maíz. Mexican Rural Development Research Reports. Reporte 19. Woodrow Wilson International Center for Scholars. Consultado el 13 de diciembre 2020 en: https://www.wilsoncenter.org/sites/default/files/ media/documents/publication/Echanove_19_Agricultura_por_contrato.pdf
- Engle, R. F. (1982). Autoregresive conditional heterokedasticity with estimates of the variance of United Kindom inflation. *Econometrica* 50(4): 987-1007.
- United States Department of Agriculture (USDA) (2021). Feed Grains. Yearbook Tables. Consultado el 4 de abril 2021 en: https://www.ers.usda.gov/data-products/feed-grains-database/feed-grains-yearbook-tables/
- Godínez, P., J. A. (2006). Causalidad del precio futuro de la Bolsa de Chicago sobre los precios físicos de maíz blanco en México. *Estudios Sociales, 15*(29): 204-223. Consultado el 28 de febrero 2020 en: http://www.scielo.org.mx/pdf/estsoc/v15n29/v15n29a6.pdf
- Motamed, M.; Foster, K. & Tyner, W. (2008). Applying cointegration and error correction to measure trade linkages: maize prices in the United States and Mexico. *Agricultural Economics* 39(1): 29-39.
- Ortiz, A., F. y Montiel, G., A. N. (2017). Transmisión de precios futuros de maíz del Chicago Board of Trade al mercado spot mexicano. *Contaduría y Administración 62*(3): 924–940. Consultado el 12 de enero 2021 en: http://www.scielo.org.mx/pdf/cya/v62n3/0186-1042-cya-62-03-00924.pdf
- Sistema Nacional de Información e Integración de Mercados (SNIIM) (2021). Anuarios estadísticos de mercados nacionales. Granos y semillas. Consultado el 15 de abril 2021 en: http://www.economia-sniim.gob.mx/SNIIM-AN/estadisticas/e_anuariosgran.asp?
- Valdes, S. R. (2018). Measuring market integration and pricing efficiency along regional maize-tortilla chains of Mexico. *Revista de la Facultad de Ciencias Agrarias. Universidad Nacional de Cuyo 50*(2): 279-292. Consultado el 2 de mayo 2020 en: https://bdigital.uncu.edu.ar/app/navegador/?idobjeto=11700
- Varangis, P., Larson, D. & Anderson, J. R. (2002). Agricultural markets and risk: management of the later, not the former. Policy Research Working Paper 2793. International Monetary Fund (IMF). Consultado el 12 de marzo 2021 en: https://openknowledge.worldbank.org/bitstream/handle/10986/15608/ multi0page.pdf?sequence=1&isAllowed=y
- Zahniser, S.; López, L. N. F.; Motamed, M.; Silva, V. Z. Y. & Capehart, T. (2019). The growing corn economies of Mexico and the United States. United States Department of Agriculture-Research Economic Service (USDA-ERS). Consultado el 4 de mayo 2021 en: https://www.ers.usda.gov/webdocs/outlooks/93633/ fds-19f-01.pdf?v=4547.8